b
9z
A~_
9%
&
&
Y,

o AR TR

1050215 - F 2 e B EA S - FPF4XF 2R P w ERB I U F
1050222 - F R ZA Y- FP 5 3o FIMBERB 1 W iB
105225 - AR e HER S - EH P4 KL EREE

105.04.25 - F R FERF - FHFETRERGFLAR § § RSB
105.05.05 - F Z e HER % - P % 3K Trc R E
1050530 - F P EERF - EH R O6AFIHT P RV T UE
1050601 - AR B ER S - FH S 6 XA ERB T U EF
1050607 - FR2v B e RS - FHPP A KB ERE L LB
1050707 - AR e B2 R $ - B 5 5F (75 §RELE

¥ SRPEIRAELBEE R TEEAFEEL R
CEES Bt ﬁraﬂ<§§4m%ﬁ*iﬁ*%iﬁ%
PRE ARG R R AR AG Y P IFRR L, (Y
TR

FoZAE W R EFRLEAR
FrTLamiamg iREFLT 2 F5 F)L el
RS E Y R AT AR - A
WHEN 2 E(NEFERE R D 2 AR PSR I A
EPLARESAET LA )eF e RT Y sk N GEL
A AP A LI

¥ = F LBHRF

-~ AREBEIFIE4 B4 _I‘z—p;ifg%;fﬁf»?x%;ﬁ y 19 ¢ ’j‘é’u
B HT P S BRL PRME RSB EF R
F%/J PRt d -~ B 28 kg R B o 4
~w%—\:%ﬂiéﬁ$?ﬁ iR I 2 $H A
$oo iR AIEE D A PIKIEE B A T

ZoRASGE TREA K@Y A -2 Ao 4
SENARG R

o AESE TR, 0 WY AR - s

bt 2
&
[e]

Frif ARTLEFRERLE > B REPLL ST



“ﬁ% -

e S i

%3 A LA

Ao TE= 11,8
A T N

)
=

- = 11

FEA R

w3 A

=¥ B

GEPT 2 A & {4~ %ir T

B (@) ()L

?R (i) ()t

ITP - 600 4 (7)1 ¢

ITP : 550 4 (7 )}

TOEFL #¢ & iBT : 100 A (3 )12} iBT : 79 4 (5)r 4
CBT : 250 4 ()1 CBT : 213 & (5)1
TOEIC % #9454 (5)10 785 A (5 )10}

IELTS R "% & 3% iPl%

6.5 (3 )14+

5.5 B(3 )}

BEC &7 » #

% % BEC Higher(7 )}

® % % BEC Vantage(z )4
I

BULATS élﬁﬁﬁ LBSE e
iR

ALTE Level 4(% )12+

ALTE Level 3(7 )}

Cambridge English (Main
Suite)
Bk

=T 2@ 2R
T ROTE

% % CAE(3)

¢ % s FCE(3 )}

CSEPT ~ # fez# ¢4 4 7l
%

$ 2 240 A (5)

His 25 kg™

+ -
it =

[

5 i AT LA

- TE= -1, &

S T R - B | I

)
=

- TEe I~

BEA A T

=3 A

% B

GEPT > X &~ %tk ©_

¢ B (i )(3) 1

P () (7 )

ITP - 550 4 (7)1 ¢

ITP : 487 4 ()12

TOEFL # 4% iBT : 79 A (3) ¢ iBT : 57 & (3)m 2
CBT : 213 & (§)11 CBT : 163 4 ()1
TOEIC % F#Epls%  [785 A (5)rtt 520 A () ¢

IELTS RI"% & 3% P%

5.5 (%)t

4m(5)0

=% 2
BO pEo

BEC #lif * #3F

¢ % 2 BEC Vantage (7).
I

¢ % BEC Preliminary( % )
I

BULATS ﬁ'])}?}ﬁ LI R
iR

ALTE Level 3(% )2 +

ALTE Level 2(% )12 +

Cambridge English (Main
Suite)
GlMET BRE e

=T 2w 2R
\5%’: S pE-

¢ % s FCE(3)1 2

¢ PET(3 )1+

CSEPT + # fx% #3540 4 7]
l%}

¥ = s 240 A (5)00

—m 170 A ()1t &

5

- 5180 A (504 ¢




